Bose 8828 ¢854.
All Rights Reserved

eO® D10 sOzssmc 2019

11 e HYonle) 60 |

mEG ste 2 8.

O/ DD LoD

o g Budeo @ 000 syed © BEyd wucsin.
o A enletd Bug® ydunde Boo Baa wew e 02 384 ¢, B emdetd & gdunen B0 8890 wewm cag 10 3184 ¢ 88ed.

A em0¢e
0l. ©CC eticm BBimeD e 805%@ d. 46 000 8. & eeo di. 13 800 » Bo( @¢ e evd®D
8B, Boy ¢ B ome etnnsis.
02. 30 »SBIB. 5 __1-b
3b b
03. e8RS »EOSs PQR e5:8» aaddes men 9o we 80 988 8 P
emde agdr 3 ¢S50 . PR & 8o 22¢m 8 ©®050t30m00 e "
DD SPDD O ENEH D).
S
04. ocwsed ¢deds PQRS ©xdged cmey 0 a8 em0mpo 850 S R
2003002 Sewmien qoees 8 »J 96 #.ets® O adtddID
EWHS3 DOBB. o
P Q
- —_— y " , ; " ¢o km
05. ©®sf 0 VeSS DEDGEO &I 0 IE Geimcw:s dreed A ' . .
cSed. adern 855m 30 ne d8 e s e ebow Jpemerizanissssedans — !
@B, 7T | S S,
| - : o
p]1] ST A
1] S ab s ey
0 20 40 70
ey - 88y
06. 8mn, 6m’, 4m & ) eI YEVDISE EEIEBID.

01

EXAMRESULTS.LK




07. cbom gemvecs’ Bosdm. log, 56.3 = 1.7505
A B & D

08. Jwsed ABCD e ebanoB. & ¢S5 emond; axnd ECD 50"

8 aows eewsiD.

0
E

09. BBgsd 12 ecoms 8 I » & 05 L u@rehs 003 ecrnennm DD yremwu 8 § e S [geo

2Danne 8558 0ens etnsis.
10.  6x' - Tx + 2 00w 90 e0Fme 80, 6xX - Tx + 2 = (2x - 1) (ax + b) oce ¢80 v Bs. 0O

a» b8 evc Eevdm.
1. &850 e.dudn Oboges vef o3Bnbeencd 4.5 8. 8 @D vum tedsy gnds’ emids

Businm.

16 18 20 21
12. exSuge 00 dadmed AB e BC wm dxows’ eemS. dded B
A A
PLscEss 88e08x X o Y 68. X0Y =115" 8 ABC 8 eoc
GEBBIB).
N C

13. Bersim. % x(x+1)=0
14. eSuge O O» Susions @ 880 A, B e C cmes comg 80 e8¢

:

Sewmiencs ced. ABO S BOB EBIGTID.

02



Q€802 BEed (Sedm ABwde ebaned,
(a) eazoade Cesim.

(b) anDBess etnesIs.

16. ABC engfenidh Semiamed & (B 651090 5D tan 0 =~%—' @d. B

o8 % B82S ¢dedm Semiend@8m ameimns Bosim.

] 0
A C

17. wom ¢Sedn 005 Giesd amd (AUB) nemae adsd =

6850 Businm. 1

B — — A
6
18. Ovedsedn ¢im amd, D
(1)  AB» XY and es®asioes Busim. C
(i) XBY=5558 ACBS oo owissio.
X
AVB
19. 88 ¢Fedm muts 630 Be®@s X w1y 8 v etsussis.
3 4 -1 4 x 12
2 - =
-1 0 2 y 0 4

20. owed ¢Seds ABC Sewiesed AB, AC e BC ¢ o¢ &

Cusemss 88e0Es P, Q v R 0. e®® emidns; amd P

sOD BeHs Ze VOO »8 988ed &8 @90 e v Q

CRED GBICTIB. A

(1) PQR Semiened d60dcs ABC Semised dbodcewss’ wmedss s.qds.

(2) BPRQ es@53mdoegesS.
(3) PQR Bemieaed x888c ABC Semiesmed s888ews’ mmeds’ se.gds.

03



21.

cmed ¢Sedm 2m 8o SEHLIC el cemedds «8&m
2100cm’ 8. &8 »osnd dbodcs dbe eesiddol 8853
@EIBBIB.

22,

A B om gemsimse Daens’ 28udmicn 843 ecmd 8. P(A) =1 ¢ P(B)=l ¢ »H® P(AUB)
GEEBIB). 5 3

23.

ABCD 8as9s ©50eged AD esw BC EEeoEsS E esw F emesf 50
&8 em»c DC/EF e®. 8 18 emomdt ¢m® X oo y 8 aos
@EBBIB).

24.

cved PQ um AB © Sem 853 880 cfenem ade 9. 88 sde
O 880xI5w g ¢, Aw Q O w86 880» cmssws c@ho(RNe0
e G BESrens ¢ Tred ¢80 98 s M ece 8 nosis.

25.

2350 DbvIcem etfdnis) cRios BOE
©en 143053 al» ¢ ©DED v Dynn
0D ¢5ed. 08 e Onpbdme Q, =10 »®
aesind Onpbom vditss eennssiD. 3

LLLELY|

il
=]
T
—
11
H
HE |
iy
1
S—




N eEHes B e»00¢s ®Ha 1

(01) 880 v »® cowos e’ @ B & com 08 Soesd e c8 & seo cssiwsd

GeBosy Al Bwe® 8 om0, 9R® B0 o1B® wew cowins §eBs’ % B O O ar.

15
(1) &80 P00 Boes ;800 Bwe® g gee §O el »00 wvwess ¢?

(i) &880 oo RO BED evm Boe @800 Bwe® & vy @88 §eExs % = Bee® »d
[owd ¢dan 0w wend) Bc ouisn cE. Sv ¥y com 57 GeBs »Od mwe ¢?

(1) ow» Bee® D8 ©t® VYO 980 § Gee omed mies »om L do &y coc 57
Ollera] % 8. 880 S omwwmest) 80 o0 Bwe® me e Fened mied »e
gec 00 B gens ¢?

(1v) 88c ®wmn Hemed miod m»e e o 180 000 = »® @y cow 87 § Gee

GEBEBID.

0 —
(02) csed Pedm BB ©08Ccm gmiBed ABCD emides
£000t50z0 @@ ¢ CED bl Damomic oigh8 .
T A Y B
(1) ABO ni@ocs »1@538c o8 t18e@8 »H® Eusim.
5 1 L]
bk
(1) ob0 DafmmId widEed i Eo etswesim.

05



(1) b0 OaFmoc wRmeEe w»w ABCD wi@oced 2bodce oo amomme 11:28 28
eusiDsi.

(iv) OAB wonced sbodes 49cm’ »® 858 e(0BFeE ¢ (]) etsows3o.

(03) (a) O BB e ©@HVSE DO VM dtdns OB e O o 8.00 3B
02 emoed 600 000 = @wndmmnd edm HNps 08, gebd wmn 008 ©E&Ive®s’
ez0ded 12 000 =5 8c0 o1B00 §eE grewidms 8.

(1) ¢ebd @omn e08 w@Ive® grewikdm e e etssIm.

(11) ¢ebd Gwm GeE @rewidme Sle®sl e®® w@Ive®s YO e BEITIOE
gSBemnes et o5,

1) ©@o® deds ademed & ¢ 30 000 » Ewce &rs®s webd @l cvdm
i Cpae; 8
CE 8810 EI0LO EVDD EIN@ HIEE @E3BHIB.

(b) oo Spen 80 eDHnEds HADd @S 3% » 08 g gwmos.
(1) ot 800 000 §eemd Onenm ¢ 0O wew evde ¥ 208t e ©tsEsinm.

(1) om8d Gee e0de®s god® 908 B8O CeEd® FeE etInsIm.

06



04) (a) oEFoo cBoenm [ewdw @8sd (Level) ecmBsy w@sidn 8. &8 ogg @2ac (Level)
dogunenc meensd ecdm ¢8sd (Level) o me 08c. ¢ woide Hoewns 5O
oe® atseb (Level) 8o »e g .
e®® =loenm §ied ececm s oed afuo (Level) do 018B6® ®widund % =
02 50 ecdm ¢fcad (Level) dwuoiRBe® w®uwdonmd —;- .
(1) »g50 o ulvern HtHd ecdos Hin o8, By 953 bo ewnd shde ERIWNed®

©80widmnd ¢fednm gwlulbes oS wowms svm Fed. 08 Budosd wdubes
DO,

se§ adeddrd ectm gdtsd
g

=145}
~ ©551%cs

(10!

e302e8cs

~ &5

(1) oS wowm amd »psl, «toemm Boedsl ecdm adtdhed? &u oHed®
e8008m00e ©LsBsIs.

(b) »g5ied sBoemed P, P, P, ece 8t0ds 3 & ¢, De®ided sboenmed P, P, P, oo
P, ects §t0ds5 4 3 g, 95 4Deddin sl w1 De®id »® «sloens OB gud ects
023 500 eom Hhed evecd. e®etd @GS eceocrnd B5® «Boewmn [iwd:s ang
eCe omicion S ot BoEe ¢Fedm Bo€ ¢dmine wum emng (ecH ¢SosIm.

b
&E.Sfm )

..............................

.............................

> D@

(1) 2 o Ded®id ecocrn OBermO edmed u8nesmn Btwds emicioBOO acE
843 nemoe emg ¢ecB Dond ¢ S Aect »® »osIs.

(i) P(A") eesxszn.

07



(05)

GO ey 60 B o e BEBBLID gdm vned &’
86 chosl ey HsInd gmes OO0 yudmndos swD
¢Ded.

o8 50 - 60 a0 cney c1@ 8us’ e 04 5 O gmo
00 eme awhed emies 30" S.

(1) o8 o oFEn dELed ol Eieghe GE0E)
DOydsNse O cRey DOBH.

(1) o & ey Tind DEO g 85353 earId et snm DD wdyben mosim.

0-20 20 - 30 30 - 40 40 - 50 50 - 60

(1) owm (1) 8 Dyed emondi HE ebiwm ¢ SOBSI s dyes ¢€sim.

................................................
................................................
................................................

................................................

v

07



Boace B88=28 o;554.
All Rights Reserved

DuR s a e8I ND
eO® D0 s80msdHIE 2019

11 6@ (5)@5)(5 II EG ste 03 8.

5O/ SO oD

cuects:
o Aem083 gdx» wwsie, B 0853 gd» ane emidieom @ cven BRI wawsim.
o 370 uFDEHO B0 BERJ g e 10 (853 88eD.
o uxeC adar ey ¢ h g 8sfRdum vb@a V= nr'h ¢ @06 I g evicem sb&w V =% nr’
¢ eb.

A ez=0e
o) (@ y=3-@x+1) oed gedmde 800 el »e geduben aow DeDS svm ¢Ffed.

-4 -3 -2 -1 0 1 2
-6 -1 2 || omsnes 2 -1 -6

1) x=-129» 80 y 8B eoc eees®.
(1) ¢3¢ty s8@rene eom oed ytdmde a€sim.
(b) @3 @€ yLfdes &Edss,
(1) e85 ased wdwime Eaesi®.
(1) Boed aoc +1 80 -4 e ¢Q0» X 8 goc BiHos Besim.
(1) Boed goc 0 0» x 8 o »IBmewns’ 138 BOE NGB,

(Iv) ow» yedvnde g 2 3 y afec Bded sngd cfmmdeas BE 80 e Bved
w@mdens Busim.

02) (a) o 80 000 =5 &3>0 M WreRd) DOOEwW: B0 ©Be® & weggd . 8 000 = evds
988w 24% » b8 emEr w@n @ @Em 218 24 8 evdyr 5 8680 cawm

D SBe. 820 edued e vwerms 08 »® e 2 F gduimed evde G egs
@eRBIB).

(b) oo v el »OOce OBe®E, vef cvded®r! vy 9880 Fee, eEs wdw Ded
@B 9906 eod®0 ¢ oD HBe. 980 e e v E8»D 13% »
DiCeen€us gw ©08. & anD ©BewiBmwd D8 ewBes evded 8cdsiest Bx»0m
ode PO OB ¢ Dewrs NCeE POO OBRBed®s ¢ cXim ey ©BHD
&S0 BT,

01



(03) ewind 3 3B e» 88858 45 o 220 20 ¢, ewind 4 3 o 48888 25 6. 210 20 ¢ Bcoom
»18ed. eciod S Be O x ¢ 8880 do» 8 . y¢ @d.
(1) Bco oF exivd wy @838880 v ©OORPoYE »vILeSRs ¢ ewind O B t»
28580 O B ey B mviseSsy ¢ Busim.
(1) ®2 gwm (1) 8 Bum» et v et YHRHET ot (F$Ded®s 8008 dnden FOEHS
Busim.
(1) S Bes@e®s’ ewind O »I 88450 S G cd» OO et 6.
(1v) o1 200 © ewied ®»oi 8t588 @ v o YBe. detd O VB ewind vea Y
2888 v etnosis.
(04) Ciwed ¢Pedm ABC Semiemmic ememced BC 8o dmwm (x + 2) ¢, AD o de®z3
ecencie, dbodcs, dbe dom 24 ¢ @d.
A
D B .
(i) ABC Semienmis auedmded dbodcs x° + 4x - 20 = 0 odnderc midn 0 0
0853053,
(i) ¢ »Bewcs owd o nOSSHS, x* + 4x - 20 = 0 =8»cess Becy BC 2o 2{6 a0
es53053.
(05) s gusHmED ey HNelewny OFmH0) @tskm Em8 8» 25 3 pe om¥y advemas’

W DO e®job dlews’ @5 g ¢d BEAr emmond; tum Dxed cFed.

(2 -6 vz 2km e®i 2km © 98 6km @8 20 weHI®.)

¢o (km) 2-6 6-10 10 - 14 14 - 18 18 - 22 22 - 26 26 - 30

€ ve&® 2 4 5 7 3 2 2

(1)
(i)

(iii)

@1 28 Busim.

Cociza8 B 25 B @gF 008 s npe Bewbon »H® @b dlews’ 0@ »e
®RsBE 0 et VeEiBOced etwsis.

DS & 25 » ces eewr o 8500 » gD 200 endd. »HES 0@
BE08ed »® @@l cdwd lkm eew o 24 =5 Bwe® O» D Vo6 B . YD
(1) 8 ®Lsms 0 8MD PDE SBEHO DD DD 0D L&D exdm D
@s5305I.

02



06) O30 »HOC@D O €Y COD BBE B woc obde @Bow:s PQ 83 e
¢3ed. P edddomed givm @6 5 09® B amd P &o 040" =» EoomweBs o A
100 35 ¢85 B edomed e, 130" » SocosBz 8ot 150" = 8z C
dhmed edines 8801 arm. Q1
(1) 8 B cwe ¢80 sped BOus m»devnm gwm emiond; &8 eSS
DO
(i) BPCS son ewsssis.
(1) BenieadS» gmmm widmenss,
(a) B domed g8 wowe@ 80 PQ @bowd 418 em0® 0 etnwssis. pe
(b) P(JEB BOBE GBIBIID.
B em10e
07 (a) §C vew 15 9» 8@ egfom 10 OB vee 105 B.
(1) 08 egdded ewig a¥mde ©EESID.
(i) ©O® ©@I50 egddfed ©¢ h B.ABOD edmse n &1gds ¢Sosis.
(11) edwmne 400 3 SO0 wef sced 80 SPDE GO B¢ VLB GLIEHIB).
(b 3 6,12 e Qe eisnd edfed 7 918 sew eenesim.
(08) e0@ ¢odwzs cm/mm s8@re5s’ ©odm Do8s) HUSen el @Y ¢HO8s wwn Bberescs
DO BIB.
(i) BAP=45"¢ AB=7cm 0 BAP emjeme Stereme o055,
(i) AP eband ool E8me¢ AP eban®d D 8 8 §d» otd AB ¢y ©@bedecme BbEress »d
ABCD es@istmoogge Sb@rens mIs3w.
(1)) A, Be» Dcess oo o», edxee O eces 8 »me Sidme Bbeneas =3 dadmeo CD
Subamaes 880 edy cdnim.
(iv) DE = 5cm &2 etd CD eocws E oo 8526 E 80 a8 @ 918 gemd dubames
RE@renc OID.
09) (a) oom 2o 20cm O» ©ELPTLIIC o©PES

(b)

8B o 908 Beor o 10cm ced
dce 88 aw.

i == 1Dem

(1) Bagess o & ©8@® w» ewsiodob - =_"2]l- -~

OB eenesIm. //ﬁ?

20
(1) e®® Vg0 BoEDsS goc a cm O» D o
eodc 30 3 wdgbeaess’ BELH cred. P
280 08 dc ©00® h g@rencSs’ gug Bed »® h= _nl% RO eusIOEID.

n=314¢e» a=205m »® h 8 asoc caoean DD wdnewrs’ ¢r® i S0
@ENWBIB.

03



(10) ocwsed exfzgs O ¢ BD Eiéfsa@mcs ¢ O a0 B 8 D

& o€ deboms AC 8. CBE = 60" 5.
E
(1) oy c508s sum enies DE 8OG @GS,
0)
M

a) EFB

(a) " v

(b) ABF

60"

(1) ABF A e ABE A ©w@®ewnidsn Sewmies a0 A B C

€30S DOBIB.
(1) AE =9cm ¢ AF =4cm »® AB 8o etowsim.

(11) ABC Sewmiened AB = BC ¢ BC 8 ®U»s cmsss x ©owm A

AB O e@3n0D &€ eband XY . XC = AW 9» e
BA ebao® W emd &3m0 a8 amc WX o0 AC eban Z
8 & ederde OB
(1) e®® oz wonm 8o oyed Bows m»Jeom

Q¥ sl ¢ ges 085 XYC w@ddaig

Seniencs 90 eusiosis.
(11) = % AC 28 srme »OsID. B X C

(12) B w@rben 8O» @dn8s5 60 » evsd 41 5 iowed] 08, @gsens’ 17 5 O¢e
Hewed ececwy oo Ogc St evnndm» 888 veam 14 8.

&0

A\ AV 8

e Bn
2o B8es

IBIeS]

M

(1) 098 givs Bous @iev® QwD MO FDES DITD.
(1) ®ec Bth e B3HNOS e’ Yedns ggdl DIBH.
(1) e®® B ©@bed DetHe® [ mom BBedn e B o»wdld. medths® [oo

20 19 econens’ 9 ecem Dsimnds’ @D, e®® emond; MRCS DOBS gum edxd
i3 5O e un B [LoOO wwId e300 888 ver etesim.




[Bop® GOn® 00, / ANl Rights Resarved.

DE® SEeiIs) glsIs® ersILHeEHHD

Department of Provincial Education - NWP
DO

NG sbomsana ~ 10 ~11. c@&0 - 2019
Third Term Test - Grade 10 -11 - 2019

[ ]

hdhame I

Do Beoow ez
Subject Index No.
Bman e bl Bomo swmoa® moms®. Mol W be removed from the Examination Hall.




11 6BHNG ey 90 sbmsde 2019 Ofo
BEudr s
| @08 - A
13800 17.| (AUB) ={1, 6} 02
" T Taeoon 18.| ) %ABssE 5=— AB 01
= 30% o2 | |18 © » SR
5-3(15) (ii)) ACB=55" 01 | 02
o = 01 9] x=>5
y=4 02
2 ;b3b o | i
20.| ) v
03| 2622 spxt =99 01 (i) v
7 4 (iii) * 02
r= 14cm 01 02
) 2100
04.] SPR A =SPR A (1.6295.01.) 02 | |21.| obodcs = 00 01
05.] 40 kmh 02 3
= 10.5¢cm 02
20
22.| P(AUB)= T -+ 5
06.] 24 m'n 02 344
07.] 10" =56.3 02
) 1]
08.| ECD= 145 02 02
@®n]
EBC = 120" / BCE = 40" 01 23. 01
01 | 02
09.| 88ed 8 ven =9 02
s 24,
Gk
85 §» 36 ewd 720 01
10.| a=3
b=2 02
11.| 20 02
12.] 65° 02
13.)x=0ewfx=1 02 AQ By wededems 01
14.| ABO =30" 02 M caa 85€ 01 | 02
St 25.| 11 ewd
AOB = 120" vezm 0180 01 Q =21 oo oo 01 | 02
50
15.] +1 o 01 eEE T
s
3-0 Y S
6 0Ll 5 - 3 01
3 11-5
=92 or | 02 15 01
6
16.| sin © @»j cos A 02 15
o8 cos (90 - 0) 2 01| 03
BC 5cm wemooBe 01 5

(01)



11 6BHNG ey 90 sbmsde 2019 Ofo
BEuts sy
(i) 1- Ly 01 (iil) @ GrgIs® = 30000 01
15 12 000
4 3 3 =
T X7 (T cer @158) 01 =ow. 250 | 01 |02
~;— o1 | 03 b) S Geg = % x 800000 | 01
1 1 =g 24 000 01 |02
(1i1) < * 715 01
1 15 80 B8md0 c@e 8
S X T = 800 000
_ = -24 000 01
-3 o ko = & 776 000 01 | 02
1
(iv) 73 — 180000 01 10
180 000 x 15 ) 5e8m el
04.| @ (@) =3 ‘?F( ;) 01
dgr. 2 700 000 01 02 i
d@t‘&j q:a.rai_‘)a&;
10 < } 02
es0edcy
02.](1) exemidh B 01 | 01
I N oose 2 J
Hewmiemrmid @mEs, 3 01 04
08
(if) —2x2_72x?xL 01
s, 4 1 1 4
=22cm 01 | 02 a (? *3)7 (? x ?) o1
4 4
(i) abd Dastwed sbodca 15 25
=2 7xTx— 01 20 +12
7 2 75
e@indged 8.8. = 14 x 14
e *—2-,?— 01 06
= 196cm 01 75
=77:19 | 01 ®) @ e
=11:28 01 | 04 P, T //\\
@ P, a4
iv) L x14xh=49 01 4 N \
(1v) 5 x14xh= P, < 02
h_: 7em 01 PP P D
=7 .+ 14+7 De®id
=28cm 01 | 03 2omd ¢ade | 01
10 5 3
PAy = <=
W PAY= 33
03.](@ () gecides »e e = L 01 |04
=12000 x 8 01 4 =
=g 96 000 01 02
05.[() 2y=60 01
(11) @@2&38&380’3 e (]
12000 100% | o1 x=120 01
600 000 * b Doydmded BT 01 03
= 2% 01 | 02

(02)



11 eSS e20» 96 sOmsde 2019 ofioe
SEndt sm®
: =300
(i) | (- - - B -60/ 02
0-20120-30]30-40(40-50]50-60 90 e98 = 300 x 60
08 16 12 08 04 =g 18 000 01 |06
(i) (b) vegg D©do emgs
w) 20t
- 13+ 72000
161 ,. 100
g .| ) = 9360 01
EIZ ecdm Do gee = 72000
5 8] ; 9360
3 81360
@ 41— * @cdm Do emgwe
o " _ 13 :
100 10 20 30 40 50 f0 7 T e
. cms = 10576.80 01
(V) o gfs 9@oma 01 §o e = 10576.80
o 0 -20 0B 01 9360.00
o oS S8y BE0 01 19936.80 01
(il) BO10€ Lo DYeregsd 19936.80 > 18000
g s 2 O 01 B50m edecd Ot &8 cowed.| 01 | 04
geDRE CEEBL 01 05 10
10
1l 600 - A o3 |3 421] 01
01.[@ ) 3 01 o
(i) B gms esgwo 01 -+ ] 01 | 02
BNGE cmens 53 0 egwy 01 :'1'
8300 Oe @0 01 | 04 i |3 4] [x ] 01
o 4 2 A%
(b) () x=-1 01 3+ dy = 220——@ o1
@) Q2<x<16 L 4x+ 2y =210——0 o1 | 03
(i) x=-2.7 x=0.7 02 (i) @x2
=-17 +1.7 01 ®-O®
1 LR _ 5x=200
y=t=ler ) o % x=40 01
— x=400 8 pedac
02.](a) e gee =80 000 - 8000 3x +4y =220
=gt 72 000 01 3x40+4y=220
) 4y =1220-120
e 8n D8mme ®®E}’;§00(} 4y =100
g @s el emde =1 y=25 01
=G 3000| 01 ©eIob o= B 9 402 TAET
e dowed eBEae 8¢l 8O omm 8 . 25
— 000 2 5] vy = 260
=3000x <o X g5 | 01 W = G+
=60 01 =4 01
@es T v eciod 45 v ¢8ed B® 45| 01 | 06
_ 24 —
T x(24+1) 01 10

(03)



11 eSS e20» 96 sOmsde 2019 ofioe
SEndt sm®
04.| i) 24=% x+2)x2Gx+2) | o1 06.| @)
24=x"+4x+4 01 | 02
0=x"+4x+4-24
0=x"+4x-20
() x*+4x-20=0
X +4x=20 01
X +4x+4=20+4 01 £0702 ¢ d—twwa‘c 02
(2 =2 vl i) BPC=130-40 01 | 03
x+2=+\24 01 =9’
x+2=+2(6 01 (i) () Grmed em3® ¢J ¢$8® 01
x=26-2emi x=2{6-2 | 01 Sin 40° = ?T?} o1
x 8 aoc caen B emmD BQ
0.6428 = —
L x=26-2 01 100 0l
) = 01 04
BC =x+2 04.28m B?oo
=26-2+2 01 |08 (b) tm PCB = oy 01
=4 — tm PCB = 0.667 01
= PCB = tm™ 0.6667
OB = ' 01 | 03
05.|G) 14-18 01 PCB= 3342 =
(i) |08 gozind | @Qsma| [ Jx 07 |(@ (i) Tn=a+(@n-1)d
7-6 3 3 g _
105=15+(10-1)d
6-10 8 4 32 o5 5 ( ) 01
10-14 12 5 60 N
14-18 16 7 112 10=d 01 | 02
18-22 20 3 60 (i) Sn= -1 {2a + (n-1)d}
22-26 2 2 44 .
26-30 28 2 56 Sn= 5 {2x 15+ (n-1)10}| 01
H00| el Sn= —- (20+ 10n)
s gos Bde 01 Sn=10n + 5n’ o1 | 02
Jx Bdw0 02 (iii) 400 = 10n + 5n’ 01
S 01 | 04 0=5n"+ 10n - 400
@QBEB@ZL}& 0=n’+2n- 80
' 5/ 0=(n+10) (n-8) 01
= 372 0 n+10=0e»in-8=c
25 L n=-10 n=3_
= 14.8 01 e DD W1Th DO E@DIVD
= 15km 01 | 03 ue 0w =8 01 | 03
(iii) ©28m Bee® = 15x25x 24 (b) Tn=ar”
=9000 01 =3x2" 01
8500 < 9000 o1 | 02 =3 x2'
g@rends exned. =3x64 01
BT =192 01 |03
Lo 10




11 e@Sics e N0 sbmsahe 2019 ofins
8€ndt spe
08.| 1)
(i) AB — 01
BAP 01
(i) 8 w®dedemw 02
B@5Imorescs 01
(iil) exdzges O ece »B SE@ 01
Dasm SbErens 01
ODC = 90 Seso 01
(iv) ED g2® 01
dubanas g2® 01
10
09.[(a) (1) =8@2 =20x20x 10
=4000cm’ 01
(i) 30 x % na’ =400h 02 | 03
na  _
10
o h = 314x(2.05) i
10
h=(lg 3.14 + 3lg 2.05) . Ig10 01
=(0.4969+3 x 0.3117) - 1.000 02
=(.4969 + 0.9351 - 1.0000 01
=1.4320 - 1.0000
=0.4320 01
=anlily 04320
=2.704 07
=27cm 01 10

(05)



11 e@Sics e N0 sbmsahe 2019 ofins
SEndt sm®
10.{() (@) EFB=60°(@momic oasi> aede emden) 02
(b) ABF = 180 - (90 + 60) (350 o emiesc)
=30 02 | 04
(i) ABF Aew» ABE A
ABF = BEA (@m0 25> @ edoed emien)
BAF = BAF (@zacl)
AFB =ABE (A aossins X 180 Sex)
.. ABF A 3 ABE A es@emids ob. 03 | 03
.. AB AF
(m) — = ——
AE AB
AB _ 4 01
9 AB
AB'=36 01
AB =\36 01
AB = 6cm 01 03
10
e
e W AWZ A e300 XYZ A
AW = XY (g egmi)
M
WAZ = XYZ (Smo$ms¥)
AZW =X2Y (eB8a¥)
' 02
AWZ=XYZ A (e2d.emiwm.) }
h 4 . AZ=YZ (go0e® Ao
g0 Go® ©0¢)
2AZ =AY
L Vi
B X L C 1
0 =5 AY—0 01
ﬁ@{d& G730 _ ool o b
80.22.g3. - XYC es88wag A @8, AF=XCI88m gat Peciep
30802 - 2AY = AC
BAC=XCY (AB=BC Se) | 01 av=.L ac o | o
BAC =XCY (AB // XY Se) | 01 2
. XCy=xCy D8 medne,
. XY=XC e 01 | 05 AZZ%X% Ac
o2® XCY e®dduig A B. |
Az= — Ac 05
. 1 4 10
(i) en.2m.qg - AZ= o Ac @B
ems - XC=XY (gun e08p3)
XC =AW (¢5m) 01

XY =AW

(06)



11 e@Sics e N0 sbmsahe 2019 ofins
SEndt sm®
12.| ) —60
eec—
e
S atIcIIN]
5.17,14, 24 ¢5» e BS8@ 04
(i) Bnog gede gro; BE® 01 | 05
(i) y —60
°I° 4
/.
ogc B mmlmaﬁ zsa\eﬁax. ®
@05 03l 01
15,9, 10 e 860 03
4 01 | 05
10

(07)



